New Maths GCSE: A20 - Solve Equations using Iteration

Correct Answer: ABCD

1 Explanation:

Using a starting value of x; = 2, what is the
value of x,?

3.5 B 25 [ ——————

B 1 B 2 | s

Correct Answer: ABCD

1 Explanation:

Xntl =3 =—
72, | [

Using a starting value of x; = 2, what is the

value of x3?

2.6 B 0.5 | —————

2.5 Bl 2.600 ... | s

Correct Answer: ABCD

1 Explanation:

Xn+1 =3 =~
72, |

Using a starting value of x; = 2, what is the

soluiontox =3 =Zto2decimal ploces? |
2.6 B 2.6180 T
2.61 B 2.62 | i
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Xn+1 = 4_xn

Using a starting value of x; = 1, what is the
value of x,?

1414 .. B 2

1782~ W 2

Xn+1 = 4_xn

Using a starting value of x; = 1, what is the
value of x3?

1 B 1.505..

157V W 1732 ..

Xn+1 = 4_xn

Using a starting value of x; = 1, what is the
solution to x = v4 — x to 3 decimal places?

1.562 B 1556

1.563 B 1561

Using a starting value of x; = 0.6, what is
the value of x,?

0.6454 ... @ 0.4166 ...
0.25 B 1.2909 ..

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

This quiz was created on www.diagnosticquestions.com.



Using a starting value of x; = 0.6, what is
the value of x3?

0.6454 ... @ 0.3870...

0.6525.. B 0.6517 ..

Using a starting value of x; = 0.6, what s the

. f 1 .
solutionto x = St 4 decimal places?

0.6527 B 0.6526
0.6525 B 0.653

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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